
ID QTY REFPART DESCRIPTION

Pg. 1/4

20 min

ALLEN

Nº22,5
Nº  2,3

TORX T45

HARLEY DAVIDSON SPORTSTER 883

1 Person

Nº   7 
Nº 14

17

13

15

11

8

16

12

9

14

10

7

6

4

5

3

1

2

1

3

3

4

2

3

4

4

6

4

2

1

1

1

1

1

1

ABR-00101100539

TORNI-I7380-493

CASQUI------845

TAPON--------85

SILENBTM5-046/1

ARNV00000000311

TORNI-ANSIB-846

SOP4P5SLBTM0001

BTMF001N

BTMP001

Cable ties

M4x12 ISO 7380 Allen screw

M4 nut

M5x16 Ø11 ISO 7380 Allen screw

Ø10,5 xØ16 x15 spacer

M4 cap nut

M5 ISO 7380 screw cap

M5 silentblock

M4x0,5 nylon washer

M5x1 nylon washer

ANSIB 18.3 CLASE 12.9 UNC 3/8”x51 Allen screw

Lower right support

Upper right support

Lower left support

Upper left support

Semifairing

Sport screen

EASY

M O U N T I N G I N S T R U C T I O N S

S E M IFA IR IN G  BAT W IN G  S M L  S P O RT MO DE LREF BTM0001

SOP4P5SRBTM0001

SOP4P5ILBTM0001

SOP4P5IRBTM0001



 MOU N T IN G  IN S T R U C T IO N S  

Pg. 2/4

2

43

1
ASSEMBLY

ASSEMBLY

DISASSEMBLY

DISASSEMBLY

A

4

6
8

7

A

ORIGINAL PARTA

HARLEY DAVIDSON SPORTSTER 883



MOU N T IN G  IN S T R U C T IO N S

Pg. 3/4

6

87

5
ASSEMBLYASSEMBLY

ASSEMBLYASSEMBLY

A

3
A

ORIGINAL PARTA

17

9

9

HARLEY DAVIDSON SPORTSTER 883



MOU N T IN G  IN S T R U C T IO N S  

Pg. 4/4

019

2111

ASSEMBLY ASSEMBLY

ASSEMBLY ASSEMBLY

9

9

5
8

7

1011
12

10
11

12

2

15

16

14

14
13

1

HARLEY DAVIDSON SPORTSTER 883

Feel the difference with CustomAcces. Check out the collection of motorcycle windshields & fairings we offer.

https://www.motorcycleid.com/customacces/
https://www.motorcycleid.com/windshields-fairings.html

